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PUNRFE at, SR, S IV 2HE#E P, (i=0,1,2,3)

(1 - 3A,4t)P,(t)

JA at Py(t) + (1 - 2A,41)P, (1)
2Agat Pi(t) + (1 - A,at)P,(t)
Agat P, (t) + Py(t)

(P, (t + at) — P (t)}/at = - 3A.P, (1)
At = 0 dP, (t) /dt = - 3A P, (1)

P,(t) = exp (-3 A,t)



fil b Rk LCEE &
P, (t) = 3exp (-2 A t)- 3exp (-3 A ,t)
P,(t) = 3exp(-A,t)- bexp(-2A,t) + 3exp (-3 A ,t)
P,(t) =1 - 3exp(-A,t) + 3exp(-2A,t) — exp (-3 A,t)
TMR DASHEEE Ry 1

RV
Ry = Py (t) + P (t) = 3exp (-2 A ,t)— 2exp (-3 A, t)
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X(t)=(X1(t), X2(t), -+, Xn(t))
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X(t+At) = X(t)P
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